
Group: 5LD

Engine: 5LD 675-2   Drawing: A

INTAKE AND EXHAUST

POS. CODE DESCRIPTION Qty

  1 6727.015 cyclonic prefilter 1

  2 «–––––» air cleaner with prefilter - see Pos. A 51 + A 2 0

  3 4701.055 gasket 2

  5 8636.028 vibration-damping 1

  6 4420.008 gasket 2

  7 «–––––» inlet manifold (reduced dimensions) - no longer avail. 0

  7 2486.042 inlet manifold 1

 16 2135.093 cap 1

 17 9400.056 suction line 1

 18 3240.018 nut M 8 8

 19 7555.029 washer diam. 8 8

 22 5496.180 polyureth.filtering element 1

 23 1261.056 seal ring 1

 24 7565.007 washer diam. 8 4

 25 3240.018 nut M 8 4

 35 3700.346 air cleaner with cap 1

 38 4776.029 gasket 1

 40 4115.048 hook 2

 50 5496.074 filtering element 1

 52 2485.033 eXhaust manifold 1

 52 2485.058 eXhaust manifold (eXtended type) 1

 56 4420.007 gasket 2

 57 6780.008 stud M 8 X 20 (32) 2

 58 3240.163 nut M  8 2

 63 4500.079 eXhaust gasket 1

 64 2940.087 eXhausting elbow 1

 74 3240.163 nut M  8 4

 80 1770.006 bolt M 8 X 1,25 X 25 2

 81 3240.163 nut M  8 2

 82 5461.047 eXhaust.muffler 1

 83 4500.079 eXhaust gasket 1

 96 9170.028 muffler end  (d.46,5/40) 1

 97 3240.033 nut M 10 1

105 1780.031 bolt M 10 X 1,5 X 25 1

106 8546.014 brace 1

107 7565.011 washer diam.10 1

printed by LOMBARDINI:   11/08/2010  -      1



Engine: 5LD 675-2  Drawing: A

printed by LOMBARDINI:   11/08/2010


